U1L1I1 HW









      Due:  Friday, January 10
	1.
	[image: image1.png]For each of the following relations, indicate whether it is an example
of direct variation, inverse variation, or neither.

For those relations that are examples of direct or inverse variation,
identify the constant of proportionality and write a sentence
describing the relationship in the language of direct and inverse
variation or proportionality.

a. The rule E = 7.50 gives wages earned at a job as a function of
number of hours worked.

b. When members of an agriculture cooperative pool their money to

buy a $40,000 hay baler, the cost per member depends on the

B . 40,000
number of members, and is calculated using ¢ = — —.

c. Daily profit at the Wheel Away roller rink is related to the number
of paying customers by the rule P = 8 — 350.

d. Because, on average, Latisha makes 60% of the free throws she
shoots in a basketball game, the number of points she scores on
free throws depends on the number of shots she gets.

e. If a runner can average 5 miles per hour for quite a long run, the
distance covered is a function of the total running time.






	2.
	[image: image2.png]The time required for a race car to complete a 400-mile race is

inversely proportional to the average speed that the car maintains.

a. Express the relationship between race time and average speed in
two equivalent forms.

b. Use either of the inverse variation forms you developed in Part a to
write and solve equations to answer these questions about race
speed and time.

i. What average speed is required to complete the race in
2.5 hours?

ii. How long will it take to complete the race if the average speed
is 140 miles per hour?

€. Which inverse variation form was most helpful for answering the
questions in Part b? Why?






